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QUESTION 1

You have included in your data center design an SRX1500 chassis cluster. The RFP requires a documented upgrade
process for the cluster that minimizes downtime. What satisfies this requirement in this scenario?

A. an in-service software upgrade

B. a topology-independent in-service software upgrade
C. a manual device upgrade

D. a nonstop software upgrade

Correct Answer: A

QUESTION 2

Your company is deploying a private cloud based on OpenStack and has selected Contrail Networking as their SDN
controller. Which statement is true in this scenario?

A. All bare-metal servers must run a vSRX instance for overlay tunneling.
B. All virtualized servers must run a vSRX instance for overlay tunneling
C. All bare-metal serer must run a vRouter for overlay tunneling

D. All virtualized servers must run a vRouter for overlay tunneling

Correct Answer: BC

QUESTION 3

You are designing a Junos-based Ethernet Fabric for a data center that has a combination of 60 EX Series and QFX
Series devices.

In this scenario, which solution would you choose?
A. Junos Fusion Provider Edge

B. Virtual Chassis

C. Junos Fusion Data Center

D. Virtual Chassis Fabric

Correct Answer: D

QUESTION 4

Latest INO-1301 Dumps | JNO-1301 Study Guide | JNO-1301 Braindumps 2/3


https://www.passapply.com/jn0-1301.html
https://www.passapply.com/jn0-1301.html
https://www.passapply.com/jn0-1301.html

VCE & PDF https://lwww.passapply.com/jn0-1301.html
2024 Latest passapply JNO-1301 PDF and VCE dumps Download
PassApply.com

A customer asks you if they should implement nonstop active routing (NSR) in some cases to replace

graceful restart in their data center.

In this scenario, which two statements are true? (Choose two.)

A. NSR saves routing protocol information by running the routing protocol process (rpd) on the backup Routing Engine.

B. NSR is self-contained and does not rely on helper routers (or switches) to assist the routing platform in restoring
routing protocol information.

C. NSR accounts for large and small traffic flows to ensure coherent forwarding path selection during failover.

D. NSR delivers TCP/UDP stream status reducing control plane stress for other networking devices through
concatenated announcements from the routing protocol process (rpd)

Correct Answer: AB

QUESTION 5
Your data center uses an Ethernet fabric solution for the infrastructure switches.

You must design a redundancy solution that addresses how the servers connect to the members of the Ethernet fabric.
Which two statements are true in this scenario? (Choose two.)

A. It is necessary to use MC-LAG.

B. You should connect each server to one member with a two-interface LAG.
C. You should connect each server to two different members.

D. It is not necessary to use MC-LAG.

Correct Answer: CD
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